C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 51,268 + 21,764 =

< ® @ @ ® @ ® > 2
2) 44,003 + 6,885 = 3
4,

< @ @ @ @ @ >

3) 85,049 + 8,000 =

« e ° > .
4) 56,151 + 25,327 = 8.
« o ° ° ° ° e »

5) 70,728 + 12,661 =

< ® @ L ® L *—)>

6) 52,778 + 31,627 =

< ® @ L ® L *—>»

7) 60,135+ 24,779 =

< ® @ L ® L *—)>

8) 48,066 + 32,840 =

< ® @ ® @ ® >
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 51,268 + 21,764 =

1. 73,032

51,268 71,268 72,268 72,968 73,028 73,032
—e——@e& @6 — @6 @6 0 > , 50,888

+20,000 +1,000  +700 +60 +4
2) 44,003 + 6,885 = 3. 93,049
44,003 50,003 50,803 50,883 50,888 . 81,478
——e———e — @ — o 0
+6,000 +800 +80 +5 s 83,389
3) 85,049 + 8,000 =
s 84405
85,049 93,049
—"-29 > . 84914
+8,000
4) 56151 + 25327 = s 80,906

56,151 76,151 81,151 81,451 81,4/1 814/8
——e— @6 @ o o 0 )
+20,000 +5,000  +300 +20 +7

5) 70,728 + 12,661 =

70,728 80,728 82,728 83,328 83,388 83,389
+10,000 +2,000 +600 +60 +1

6) 52,778 + 31,627 =

52,778 82,778 83,778 84,378 84,398 84,405
“——e— @& @ o o 0 )
+30,000 +1,000  +600 +20 +7

7) 60,135+ 24,779 =

60,135 80,135 84,135 84,835 84,905 84,914
—e— @6 —@ o o 0
+20,000 +4,000 +700 +70 +9

8) 48,066 + 32,840 =

48,066 78,066 80,066 80,866 80,906
“——e— e @ o 0o

+30,000 +2,000 +800 +40
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